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| 1540010 001
Fire Note Concert
4
500
0 0 0 0 805 25
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 805 25
0 0 122
0 0 122
0 0 0
0 0 0
C 0 0
D =B+C 0 122
£ =AD 0 0 927
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 0 0 927




500 500 500
0 0 0
0.0% 0.0% 0.0%
0 0 1,854
1 1 1
0 0 1
500 500 500
0 0 434
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002 |

1540010

92.5

0.5%

102

102

102

102

102

B+C

D

E =A+D




406,407 402,965 400,470
0 0 0

0.0% 0.0% 0.0%

0 0 0

3 3 0

3 3 0

91.5 92.0 92.5
91.3 92.8 91.4




| 1540030 001
100
100
1,938 60 1,908 60 1,932 60
0 0 0 0 0 0
0 0 0 0 0 0
1,938 60 1,908 60 1,932 60
12,236 12,033 12,360
12,236 12,033 12,360
0 0 0
0 0 0
c 0 0 0
D =B+C 17756 12,033 12,360
E =A*D 14,174 13,941 14,292
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 14,174 13,941 14,292




533,525 529,486 527,846
0 0 0
0.0% 0.0% 0.0%
27 26 2
6 6 6
6 5 6
100 100 100
100 99 100
o
125 -3
5 28,855
100
5 1,064 28,855




| 1540030 002
1,420
5,814 180 6,360 200 6,440 200
0 0 0 0 0 0
0 0 0 0 0 0
5,814 180 6,360 200 6,440 200
1,585 1,745 1,562
1,585 1,745 1,562
0 0 0
0 0 0
c 0 0 0
D =B+C 1,585 1,745 1,562
& AP 7,399 8,105 8,002
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 7,399 8,105 8,002




533,525 529,486 527,846
0 0 0

0.0% 0.0% 0.0%

14 15 15
1,800 1,800 1,800
1,441 1,586 1,420
100 100 100
100 99 100

1,586




| 1540030 003
969 30 954 30 966 30
361 35 2,030 201 S 269
0 0 0 0 0 0
1,330 65 2,984 231 3,683 299
1,560 1,796 1,514
87 87 94
1,271 1,247 1,187
202 462 233
c 0 0 0
D =B+C 1,560 1,796 1,514
£ =AD 2,890 4,780 5,197
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 2,890 4,780 5,197




6,151 12,985 17,096
0 0 0
0.0% 0.0% 0.0%
470 368 304
300 360 686
300 623 828
6,000 7,381 14,284
6,151 12,985 17,096

1.3




| 1540030 004
24 365
11,372
1,938 60 1,908 60 1,932 60
0 0 0 0 0 0
0 0 0 0 0 0
1,938 60 1,908 60 1,932 60
5,150 8,693 8,804
3,955 7,798 7,798
412 846 1,006
783 49 0
c 0 0 0
D =B+C 5,150 8,693 8,804
£ =AD 7,088 10,601 10,736
0 0 0
0 0 2,651
0 0 0
0 0 0
0 0 0
0 0 2,651
E 7,088 10,601 8,085




. 
533,525 529,486 527,846
0 0 0
0.0% 0.0% 0.0%
13 20 15
24h 365d 24h 365d 24h 365d
24h 365d 24h 365d 24h 365d
6,000 12,000 12,000
3,616 7,246 11,373
X
40
6 10
20 1 6 1/3
24 365
5 11,372
77 119
5,165
10
9




| 1540040 001
1800 /
937 29 477 15 676 21
0 0 0 0 0 0
0 0 0 0 0 0
937 29 477 15 676 o
201 95 386
201 95 386
0 0 0
0 0 0
C 0 0 0
D =B+C 201 95 386
£ =AD 1,138 572 1,062
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 1,138 572 1,062




535,961 534,380 532,369
0 0 0

0.0% 0.0% 0.0%

2 1 2

82 82 82

29 15 20

0 0 0

5 5 0




| 1540040 002
376,000
646 20 636 20 644 20
0 0 0 0 0 0
0 0 0 0 0 0
646 20 636 20 644 20
376 376 376
376 376 376
0 0 0
0 0 0
c 0 0 0
D =B+C 376 376 376
E =A*D 1,022 1,012 1,020
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 1,022 1012 1,020




8,537 8,128 0
0 0 0
0.0% 0.0% 0.0%
120 125 0
200 200 200
48 99 180

35 39 36

39 36 41




| 1540040 003
33,000 33,000 x 50
646 20 636 20 644 20
0 0 0 0 0 0
0 0 0 0 0 0
646 20 636 20 644 20
1,617 1,679 1,615
1,617 1,679 1,615
0 0 0
0 0 0
c 0 0 0
D =B+C 1,617 1,679 1,615
& AP 2,263 2,315 2,259
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 2,263 2,315 2,259




8,537 8,128 8,128
0 0 0
0.0% 0.0% 0.0%
265 285 278
3,000 3,000 3,000
2,343 99 4,590
35 39 36
39 36 41




| 1540040 004
7,000
646 20 636 20 644 20
0 0 0 0 0 0
0 0 0 0 0 0
646 20 636 20 644 20
177 174 163
177 174 163
0 0 0
0 0 0
C 0 0 0
D =B+C T 174 163
& AP 823 810 807
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 823 810 807




3,798 3,672 3,682
0 0 0
0.0% 0.0% 0.0%
217 221 213
1,200 1,200 1,200
1,059 1,033 919
1 1 1

0 0 2




| 1540040 005
12,000 12,000 x 49

646 20 636 20 644 20
0 0 0 0 0 0
0 0 0 0 0 0
646 20 636 20 644 20
576 564 496
576 564 496
0 0 0
0 0 0
c 0 0 0
D =B+C 576 564 496
E =A*D 1222 1,200 1,140
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
0 0 0
E 1277 1,200 1,140




3,798 3,672 3,682
0 0 0
0.0% 0.0% 0.0%
322 327 310
1,200 1,200 1,200
1,059 1,033 919
1 1 1

0 0 2




006 |

1540040

399

399

399

399

399

858

519
339

858

858

858

771

432
339

771

771

771

B+C

D

E =A+D




237,187 240,082 242,299
0 0 0

0.0% 0.0% 0.0%

3 4 2

1,700 1,700 96
1,700 1,700 567
80 80 80

77 79 81




| 1540040 007
e
500
194 6 191 6 193 6
0 0 0 0 0 0
0 0 0 0 0 0
194 6 191 6 193 6
3,463 594 906
3,463 594 906
0 0 0
0 0 0
C 0 0 0
D =B+C 3,463 594 906
£ =A*D 3,657 785 1,099
0 0 0
0 0 0
0 0 0
0 0 0
0 0 463
0 0 463
E 3,657 785 636




92 682 521

0 0 0

0.0% 0.0% 0.0%
39,748 1 161 1,221
2 8 6

1 8 6

0 0 0

8 9 7




| 1540050 001
10 22 14

0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 44,000 0
0 44,000 0
0 0 0
0 0 0
C 0 0 0
D =B+C 0 44,000 0
& AP 0 44,000 0
0 0 0
0 0 0
0 0 0
0 0 0
0 15,840 0
0 15,840 0
E 0 28,160 0




- 535,961 534,380
- 0 0
0.0% 0.0% 0.0%
0 53 0
- 200 105
- 200 0
- 0 0
- 1 0




| 1540050 002
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 3,850
0 0 3,850
0 0 0
0 0 0
c 0 0
D =B+C 0 3,850
& AP 0 0 3,850
0 0 0
0 0 0
0 0 0
0 0 0
0 0 2,422
0 0 2,422
E 0 0 1,428




534,380

0

0.0%

3




